=ye\

AR FEEL Y B4

ISO 6982, 1SO 8132F11SO 81334

(-

TEZEFTF X T
C-136 & C-146

EETAER
C-151

Ny

\

EETRANER
C

-141

T
C-1

45

BEXiE R 3
ga s
) ‘\ 5
()
g %/
SWC HfLi& itk

AtosiHELFIERHALERL IR, BEMINRY, FERAER,

www.atos.com At T &

(2| EIREEAE

CADIS T R4 N34 IR T,

#74 B800-0/C

GEET, AtosTlRMEITEREEFM
X#: ENEATENIE. FANEAEGR
B2, NHEMMFIZFHE,

ns

1]
_c |-

141

TR

SEEEFTHIF:

136 = SEETAXTIHA
146 = SEEFRAXTIHA
141 = EETFAXER
151 = EEFRER
145 = WEITFFHH
XiE:

124 = EXiE

134 = AA¥%#%

144 = BEHIF

154 = IEEH

2/ 7 EZET
B [mm]

SEETHERS TEHRS
. b) O & =
o FiZ “ ( “ 4 > @ 2 Q‘Q\ §9 q A
R R = AL | A || &
) '\ J \ I
12
18 E5H() NA C-14612 C-14112 C-15112 C-14512 25 NA C-13425 C-14425 C-15425
14
22 mmHE | %610 C-14614 C-14114 C-15114 C-14514 32 NA C-13432 C-14432 C-15432
18
22 %5 H@) | C-13618 C-14618 C-14118 C-15118 C-14518 40 C-12422 (c) C-13440 C-14440 C-15440
28 E1mH
22 C-12428 (c)
28 #MH(@) | C-13622 C-14622 C-14122 C-15122 C-14522 50 C-13450 C-14450 C-15450
36 wH C-12436 (d)
28 C-12436 ()
36%MH@) | C-13628 C-14628 C-14128 C-15128 C-14522 63 C-13463 C-14463 C-15463
45 EHH C-12445 (d)
36 C-12445 (c)
45 % H@) | C-13636 C-14636 C-14136 C-15136 C-14536 80 C-13480 C-14480 C-15480
56 mH C-12456 (d)
45 C-12456 (c)
56 %MH@) | C-13645 C-14645 C-14145 C-15145 C-14545 100 C-134100 C-144100 C-154100
70 %mH C-12470 (d)
56 C-12470 (c)
703%MH@) | C-13656 C-14656 C-14156 C-15156 C-14556 125 C-134125 C-144125 C-154125
90 BH C-12490 (d)
70 C-12490 (c)
90 %MH(a) | C-13670 C-14670 C-14170 C-15170 C-14570 160 C-134160 C-144160 C-154160
1103%mH C-124100 (d)
90
110 %M H(a)| C-13690 C-14690 C-14190 C-15190 C-14590 200 C-124100(c) | C-134200 C-144200 C-154200
140385 H
R

(a) FEIH: 3RAIMRELY, F4E B8 SEHAB1375B140
(b) 34 F3EZEHF110,140,180f1220, EAERATIE(EC-136, MERIH

(c) STERTTHAECNALHEL
(d) S&ETTRAECCEUMEL

B800



3] R+

S——— | [ B SR [ e [ PR
RFAISO 6982f18 13271 C-13616(1) |M12x1,25] 17 | 19 | 33 | 11 | 38 | 12 | 12 | 54 | 13 | 32 | 0,11 | 108 | 245 | 6Nm
C13618 |[M14x1,5| 19 | 22 | 41 | 14 | 44 | 16 | 16 | 64 |165| 40 | 0.2 | 17,6 | 36,5 | 10Nm
EN C13622 |M16x1,5| 23 | 28 | 50 [175| 52 | 20 | 20 | 75 |205| 47 | 035 | 30 | 48 |25Nm
c r@—‘ C13628 |M20x1,5| 29 | 31 | 64 | 22 | 65 | 25 | 25 | 96 |255| 54 | 062 | 48 | 78 |25Nm
C-13636 | M27x2 | 37 | 38 | 80 | 28 | 80 | 32 | 32 |118| 30 | 66 | 1,15 | 67 | 114 | 49 Nm
_ = C-13645 | M33x2 | 46 | 47 |100| 34 | 97 | 40 | 40 | 146 | 39 | 80 | 2,18 | 100 | 204 | 49 Nm
of u ° N C-13656 | M42x2 | 57 | 58 | 126 | 42 | 120 | 50 | 50 | 179 | 47 | 96 | 3,96 | 156 | 310 | 86 Nm
T - C13670 | M4sx2 | 64 | 70 | 145|535|140 | 63 | 63 |211| 58 | 114| 68 | 255 | 430 |210 Nm
I
‘ ° 5 C13690 | M64x3 | 86 | 91 | 184 | 68 | 180 | 80 | 80 |270 | 74 | 148| 13 | 400 | 695 |410Nm
© _‘_ = C-13690A (3| M72x3 | 91 | 100 |185| 72 | 195| 90 | 90 | 296 | 91 | 160 | 19,1 | 490 | 750 |410Nm
‘ L}QJ C-136110 | M8Ox3 | 96 | 110 | 228 | 855|210 | 100 | 100 | 322 | 94 | 178 | 25 | €10 |1.060 |710 Nm
B C-136110A(| M90x3 | 106 | 125|235 | 88 | 235 | 110 | 110 [ 364 | 106 | 190 | 32 | 655 | 1.200 [710 Nm
- C-136140 | M100x3 | 113 | 135 | 320 | 105 | 260 | 125 | 125 | 405 | 116 | 200 | 46 | 950 | 1.430 |710 Nm
Pz .
(MEEERIEE, R RRERR C-136180 | M125x4 | 126 | 165 | 400 | 133 | 310 | 160 | 160 | 488 | 145 | 250 | 82,5 | 1.370 | 2.200 |710 Nm
()X ML TR SIMENIRHIERIN, NEEEhE
B)IEtR C-136220 | M160x4 | 161 | 215 | 500 | 165 | 390 | 200 | 200 | 620 | 190 | 320 | 168 | 2.120 | 3.650 |1500Nm
C-146 - EEFFT X HHA o | o [T ox [ ] e [ o | o B0 [ | e
150 8133t C-14612 (1)| M10x1,25 | 15 | 42 | 1290 18 |109,@| 85 | 16 | 19 | 012 | 108 | 17 |10Nm
& C-14614 (1) | M12x1,25 | 17 | 48 | 1690 23 [14%,@[ 15| 20 | 22 [022 | 211 | 285 | 10Nm
| C-14618 (1)| M14x15 | 19 | 58 | 209, | 28 169, 135| 25 | 28 (043 | 30 | 425 | 25Nm
o = C-14622 | M16x15 | 23 | 68 | 259, | 33 |203,,@ 18 | 30 | 31 |067| 48 | 67 |25Nm
i S C-14628 | M20x1,5 | 29 | 85 | 309, | 41 [229,@ 20 | 35 | 37 [125| 62 | 108 |49Nm
& | © C-14636 | M27x2 | 37 | 105 | 4084, 51 289, 24 | 45 | 47 |216| 100 | 156 |49 Nm
! C-14645 | M33x2 | 46 | 130 | 509, 61 [353,@| 31 | 58 | 57 | 39 | 156 | 245 | 86Nm
- N C-14656 | M4a2x2 | 57 | 150 | 6094 80 443, | 39 | 68 | 69 |7,15| 245 | 380 |210Nm
(MMFEERIEE, Rt ARERSH C-14670 | M48x2 | 64 | 185 | 8030, 1025/55%,s | 48 | 92 | 91 | 15 | 400 | 585 |410Nm
(2) il TAEPSZRSMENIRHIERNT, NEREhETE
(3)RAAISO 81331Ttt C-14690 M64x3 86 | 240 [100 94, | 120 708, 57 | 116 | 110 | 27,3 | 610 | 865 |710Nm
C-141 - ERFATNER C-145 - 5t i KK | S5 | T | max | A | B | min | max | o |y | ERRE
FFAISO 813315t SlalZ I moxias | 82 | 10 | 26 | 12 | 10 | 29 | 12 | 18 | 0 8
SlalZ I mizxios | 86 | 12 | 34 | 16 | 12 | 87 | 17 | 19 |08 | 125
Slalte | wmiaas | ss | 14 | a2 | 20 | 14 | 45 | 17 | 19 | 028 20
Sliize | mieas | sa | 20 | 62 | 30 | 20 | 66 | 20 | 32 | 09 32
{ ] Sliaze | meoxis | 60 | 20 | 62 | 30 | 20 | s | 20 | 32 | 091 50
EL | Gl | weme | 75 | 28 | 83 | 40 | 28 | 87 | 34 | 39 |19 80
Glala | wame | o0 | 36 | 108 | 50 | 36 | 107 | 50 | 54 |42 | 125
G456 | maze | 113 | 45 | 128 | 60 | 45 | 120 | 53 | 57 | 653 | 200
— 8] j;;g Magx2 | 126 | 56 | 143 | 70 | 56 | 149 | 59 | 63 |1041| 320
FHRHEC-145 585 gjjggg Me4x3 | 168 | 70 | 163 | 80 | 70 | 169 | 78 | 83 | 192 | 500
C-151 - EEFEHER RS K| o | B St | ma | b6 | i3 | mex | min | ;ﬁ?ﬁ
FFEI1S0 81331k C-15112 |M10x1,25 | 14 18 32 18 10 12 12 13 | 0,08 8
’@ C15114 |M12x1.25| 16 | 22 | 36 | 22 | 12 | 16 | 17 | 19 | 015 125
- C15118 | Miax15 | 18 | 25 | 38 | 20 | 14 | 20 | 17 | 19 | 022 20
OE? ] ] C15122 | Miex15 | 22 | 35 | 54 | 30 | 20 | 30 | 20 | 3 | 05 32
‘ = C15128 | M20x15 | 28 | 40 | 60 | 30 | 20 | 30 | 20 | 32 | 11 50
—0— C15136 | M27x2 | 36 | 50 | 75 | 40 | 28 | 40 | 34 | 39 | 15 80
i C15145 | M33x2 | 45 | 70 | 99 | 50 | 36 | 50 | 50 | 54 | 25 125
C15156 | Md2x2 | 56 | 100 | 113 | 65 | 45 | 60 | 53 | 57 | 42 200
: C15170 | Mdsx2 | 63 | 116 | 126 | 9 | 56 | 70 | 59 | €3 | 118 320
C-15190 | Me4x3 | 85 | 160 | 168 | 110 | 70 | 80 | 78 | 83 17 500




C-124 - HXig CK CL cMm FL HB LE MR | RC TB ub UH | [RE | BXhE

. 15 HO | hi6 | A13 | JS12 | H13 | min | max | JS14 | JS14 | max | max | [kg] | B22SmN]
FFE1S081324mfE
Cc12414 | 12 | 28 | 12 | 34 | 9 | 22 | 12 | 20 | 50 | 40 | 70 | 031 8
CL C12418 | 16 | 36 | 16 | 40 | 11 | 27 | 16 | 26 | 65 | 50 | 90 | 059 | 125

C-12422 20 45 20 45 1" 30 20 32 75 58 98 0,9 20

&
CK Hots

C-12428 | 25 | 56 | 25 | 55 | 135 | 37 | 25 | 40 | 8 | 70 | 113 | 16 32
C-12436 | 32 | 70 | 32 | 65 | 175 | 43 | 32 | 50 | 110 | 85 | 143 | 28 50
+T% HB \ o
[T
| | E] C-12445 | 40 | 90 | 40 | 76 | 22 | 52 | 40 | 65 | 130 | 108 | 170 | 5 80
T il C-12456 | 50 | 110 | 50 | 95 | 26 | 65 | 50 | 80 | 170 | 130 | 220 | 10,1 | 125
B RC
UH uD C-12470 | 63 | 140 | 63 | 112 | 33 | 75 | 63 | 100 | 210 | 160 | 270 | 154 | 200
C-12490 | 80 | 170 | 80 | 140 | 39 | 95 | 80 | 125 | 250 | 210 | 320 | 30 320
JERR: PRTTIRAtTH
N ERECIRSA, (RPESTIRML) C-124100 | 100 | 210 | 100 | 180 | 45 | 120 | 100 | 160 | 315 | 260 | 400 | 60,2 | 500
" . CF | CG |CO|CP|FM GL |HB LJ |LO|RE |SR|TA | UJ | UK |[R8 | &AM
C-134 - fAXXIE . B BB |H9 (1) somos| HO |14 js13 FO | s1a| iz | K€ | LG | min | max js13 |max| js13 |max|max| [kg] | BEANKN]
FFEDIN245565%I1SO 8133, HWRTCO#{T
s C-13425| 12 | 10 |10 |30 |40 | 16 |46 | 9 |33| 28|29 |56 |55 |12 |40 |75 |60 [052] 8

Lo C-13432| 16 | 14 |16 |40 |50 | 18 |61 | 11 |43|37 |38 |74 |70 |16 | 55|95 |80 |1,05| 125

C-13440| 20 | 16 | 16 | 50 | 55 | 20 | 64 1(?;5 43]839|40 |80 |85 |20 |58|120| 90 |1,72 20

3y

15,5

C-13450 | 25 | 20 | 25 | 60 | 65 | 22 | 78 o

54148 |49 |98 |100| 25 | 70 |140|110|2,72 32

9,

17,5
(1)

C-13463| 30 | 22 | 25 | 70| 85| 24 | 97 54|62 |63|120/115| 30 | 90 [160|135|5,15 50

C-13480| 40 | 28 | 36 | 80 |100| 24 |123| 22 | 8,4 | 72 | 73 |148|135| 40 [120|190|170| 9,3 80

Hg|

uJ C-134100| 50 | 35 | 36 |100|125| 35 |155| 30 (8,4 | 90 | 92 |190|170| 50 |145|240|215|18,3| 125

C-134125| 60 | 44 | 50 |120|150| 35 |187| 39 [11,4{108|110|225|200| 60 | 185|270|260| 35 200

S ©-134160| 80 | 55 | 50 |160|190| 35 |255| 45 |11,4|140|142|295|240| 80 |260(320|340| 63 | 320
4 .
SR AL B ER
() RE&ISO 813345k ©-134200| 100 | 70 | 63 |200|210| 35 |285| 48 |12,4|150|152|335|300| 100|300 (400|400 | 109 | 500
A cK E EM | FL | HB | LE | MR R B | BARE
C-144 - £HIF (V] Ho AR ax | h3 | js13 | HI3 | min | max | js13 | (ko] | EEAKN]
N -,
RS0 81334 C-14425 | 10 40 40 12 23 55 13 12 | 283 | 03 8
R FL C-14432 | 12 47 46 16 29 | 66 19 17 | 332 | 045 12
EM LE
= % C-14440 | 14 59 65 20 29 9 19 17 | 417 | 09 20
] -- %
‘ — C-14450 | 20 74 79 30 48 | 135 | 32 29 | 523 | 13 32
Ll C-14463 | 20 91 91 30 48 | 135 | 32 29 | 643 | 1.9 50
K== P REE::
WA C-14480 | 28 | 117 | 118 | 40 59 | 175 | 39 34 | 827 | 4 80
1 @ — C144100 | 36 | 137 | 132 | 50 | 79 | 175 | 54 | 50 | 969 | 625 125
E C-144125 | 45 | 178 | 174 | 60 87 24 57 53 | 1259 | 114 200
C-144160 | 56 | 219 | 215 | 70 | 103 | 30 63 59 | 1549 | 208 320
C-144200 | 70 | 269 | 256 | 80 | 132 | 33 82 78 | 1902 | 388 500
R . N . CR|CO | FH | FK | FN | FS | HB | KC | NH | TH | UL | && | 2Af0%
C-154 - XEEF (CHEIRERRNG HAL) A5 H7 | N9 | max | JS12 | max | s13 | H13 | 005 | max | js13 | max | Tkal | ZizSikn]
~ g
IS0 81324 C-15425 | 12 | 10 | 25 | 34 [ 50 | 8 | 9 | 33 | 17 | 40 | 63 | 046 8

C-15432 16 16 30 40 60 10 1 4.3 21 50 80 | 0,83 12,5

C-15440 20 16 38 45 70 10 1 4.3 21 60 90 1,21 20

C-15450 25 25 45 55 80 12 1356 | 54 26 80 110 | 2,156 32

C-15463 32 25 52 65 100 15 1756 | 54 33 110 | 150 | 4,63 50

C-15480 40 36 60 76 120 16 22 8,4 41 125 | 170 | 7,78 80

C-154100 50 36 75 95 140 20 26 8,4 51 160 | 210 | 14,3 125

C-154125 63 50 85 112 | 180 25 33 11,4 | 61 200 | 265 | 234 200

R C-154160 | 80 | 50 | 112 | 140 | 220 | 31 | 39 | 114 | 81 | 250 | 325 | 53,1 | 320
R STREUHADZIEER
()RFAISO 81334k C-154200 (| 100 | 63 | 150 | 200 | 300 | 42 | 52 | 124 | 101 | 320 | 410 | 112 | 500

B800



4] HEEE)

CK- ZEANC, HEETAXTHIAC-136712EIFC-144

CK - &AL,

T EZEMT AN EIRCAMTISTEEIFC-154

CN - ZZEZHAE, HNEETRAXTIHIAC-146

CC - ZEHAA, T EETANEIRC-141

(5] =EmRE

BLRAFRERELE, MNMRSTHEDE QUNNHRERR) , BN TR FFENKHA, BRTC-1458H, FIRHRAL 0071RERE (200/\NEE5E

I -VER, KHRE, REFKREMH,

Bs RELE Bs RELE
% C-136 5 C-146 FRE Q& C-124 TR
Q:; 141 ERE 3\‘5\\& C-134 TRE
C-151 B R K\gk C-144 TR
y ) C-145 BRI B e ERE

06/19




